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DIRECTIONS:

In the following questions a word is followed by four other words, one of which cannot be
formed by using the letters of the given word. Find this word.

Q1. From the given words, select the word which cannot be formed using the
letters of the given word.

ALTERNATIVES
a) NATIVE

b) ALTER

c) NATIONAL

d) TEN

Q2. PSYCHOLOGY
a) GOOD

b) SCHOOL

c) HOLY

d) POOL

Q3. ORGANISATION
a) ORANGE

b) STRONG

c) GROAN

d) NOTION
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Q4. From the given alternative words, select the word which cannot be formed
using the letters of the given word:

ADMINISTRATORS
a) TRAITOR

b) STARDOM

c) MINISTER

d) DORMANT
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Q5. ANNIVERSARY
a) VERY
b) YARN
c) VIEW
d) SAVE

Q6. From the given alternative words, select the word which cannot be formed
using the letters of the given word:

SPECULATION
a) TOPIC
b) SPECIAL
c) CAUTION

d) SECULAR

Q7. From the given alternatives select the word which cannot be formed using
the letters of the given word.
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LEGALIZATION
a) ALEGATION

b) ALERT

c) NATAL

d) GALLANT

Q8. From the given alternative words, select the word which cannot be formed
using the letters of the given word.

THERMODYNAMICS
a) MOTHER

b) MATHEMATICS

c) DYNAMO

d) MODERN

Q9. THERMOLYSIS
a) LOTUS

b) SISTER

c) THESIS

d) LORIS

Q10. ETHNOGRAPHIC
a) HEART

b) EARTH

c) GARMENT

d) GEAR

Q11. From the given alternative words, select the word which cannot be formed
using the letters of the given word:



INTELLIGENCE
a) NEGLECT

b) CANCEL

c) INCITE

d) GENTLE

Q12. ADMINISTRATION
a) TRADITION

b) STATION

c) RATION

d) MINISTER
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Q13. INTERNATIONAL
a) RATIONALE

b) ORIENTAL

c) TERMINAL

d) LATTER

Q14. From the given words, select the word which cannot be formed using the
letters of the given word.

DETERMINATION
a) DESTINATION
b) DETENTION
c) DOMINATE
d) TERMINATE
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Q15. INTELLIGENCE
a) INCITE

b) GENTLE

c) NEGLECT

d) CANCEL

Read More word formation Question and Answes »

Answers to the above questions :

Q1. Answer: (c)
There is no ‘O’ letter in the given word. Therefore, the word NATIONAL cannot be formed.
ALTERNATIVES?ALTER; NATIVE

ALTERNATIVES?TEN

Q2. Answer: (a)

There is no ‘D’ letter in the given word.

Q3. Answer: (a)

There is no ‘E’ letter in the keyword.

5000+ VERBAL REASONING TOPIC WISE MCQ QUESTION BANK WITH SOLVED ANSWERS
& FREE PDF

ANALOGY BLOOD RELATIONS CODING & DECODING CLASSIFICATION

VENN DIAGRAMS CLOCKS CALENDAR PUZZLES TEST

DIRECTION & DISTANCE SENSE TEST ASSERTION & REASON

CAUSE AND EFFECT SEATING ARRANGEMENTS STATEMENT & CONCLUSION



https://careericons.com/verbal-reasoning/word-formation/word-cannot-be-formed/721-1/
https://careericons.com/verbal-reasoning/analogy/1/
https://careericons.com/verbal-reasoning/blood-relation/2/
https://careericons.com/verbal-reasoning/coding-and-decoding/18/
https://careericons.com/verbal-reasoning/classification/19/
https://careericons.com/verbal-reasoning/venn-diagrams/20/
https://careericons.com/verbal-reasoning/clocks/21/
https://careericons.com/verbal-reasoning/calendar-problems/22/
https://careericons.com/verbal-reasoning/puzzles-test/23/
https://careericons.com/verbal-reasoning/direction-distance-test/24/
https://careericons.com/verbal-reasoning/assertion-and-reason/26/
https://careericons.com/verbal-reasoning/cause-and-effect/28/
https://careericons.com/verbal-reasoning/seating-arrangements/31/
https://careericons.com/verbal-reasoning/statement-and-conclusion/32/

SERIES COMPLETION STATEMENT & ARGUMENTS

STATEMENT & ASSUMPTIONS STATEMENT & COURSE OF ACTION

PASSAGE & CONCLUSION SEQUENTIAL TEST MATHEMATICAL OPERATIONS

WORD FORMATION ALLIGATION & MIXTURES

Q4. Answer: (c)

There is no ‘E’ letter in the given word. Therefore, the word MINISTER cannot be formed.
ADMINISTRATORS?STARDOM

ADMINISTRATORS?TRAITOR

ADMINISTRATORS?DORMANT

Q5. Answer: (c)

There is no ‘W’ letter in the given word.

Q6. Answer: (d)

There is no ‘R’ letter in the given word. Therefore, the word SECULAR cannot be formed.
SPECULATION?SPECIAL

SPECULATION?TOPIC

SPECULATION?CAUTION

Q7. Answer: (b)

There is no ‘R’ letter in the given word.
Therefore, the word ALERT cannot be formed.
LEGALIZATION?ALEGATION

LEGALIZATION?GALLANT
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LEGALIZATION?NATAL

Q8. Answer: (b)

There are only one A and T in the given word.
Therefore, the word MATHEMATICS cannot be formed.
THERMODYNAMICS?MOTHER
THERMODYNAMICS?MODERN

THERMODYNAMICS?DYNAMO

Q9. Answer: (a)

There is no ‘U’ letter in the given word. .

Q10. Answer: (c)

There is no ‘M’ letter in the key word.

Q11. Answer: (b)

There is no ‘A’ letter in the given word. Therefore, the word CANCEL cannot be formed.
INTELLIGENCE?NEGLECT

INTELLIGENCE?GENTLE

INTELLIGENCE?INCITE

Q12. Answer: (d)

There is no ‘E’ letter in the keyword.



Q13. Answer: (c)
There is no ‘M’ letter in the given word.

Therefore, the word TERMINAL cannot be formed.

Q14. Answer: (a)

There is no ‘S’ letter in the given word. Therefore, the word DESTINATION cannot be formed.
DETERMINATION?DETENTION

DETERMINATION?TERMINATE

DETERMINATION?DOMINATE

Q15. Answer: (d)
There is no ‘A’ letter in the given word.

Therefore, the word CANCEL cannot be formed.
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